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— J|IEtS s X @ 31,964,000& 31,964,000
@ M2X JIxsAS A DIM%OI%I}%‘ JEtRSX el
— JIEIR s XA @ 52,000 52,000
@ MEH HEE32H 0IAI201E X2 JIEFSS XA oK
— JIEIS S @ 60,399,000 60,399,000
@ MEXH EBMDSAS|H OIAI20/F X2 JIEIRS KA o
— JIEts S XA 0 2,000 2,000
Al 101,881,000
% S-QOOE:,;( 908,464 908,464
A-TT O T
a%?: 87,995 87,995
@ MEX JI=ASIH OIAMZ0IE X2 0l==2 11X =8 =
— Olz==2 : 73,000& 73,000
@® M2 HES=E23H 0IAI20E2X2 =2 1 =2 SN
— Olz=2 : 87,922,000& 87,922,000
Al 87,995, 000
%JI %E) - 820,349 820,349
@® MPHd g@IISaH o2 42 1A =8 =
— d==2 : 9,650,000& 9,650,000
& MEXH SatHESIH OIAI20Eds 82 14 =8 =9
— dz==2 1 9,874,000& 9,874,000
@ MPH JI=ASIH DIAIZ0IE X2 8462 11X =3 =
— Hd===2 : 408,900,000& 408,900,000

@ WA HSSS3H 0IAS01BXNS d=3 14 FH SH




n= 20228/ H & | 20228/ H = = atoH
- — 2xt FItEH 1x FI1E ™ (A-B)
= & = 0 AHOH (A) 0 A+ (B)
— d===2 : 387,005,000& 387,005,000
@® MM ZHNSIASH OIAS0IEN2 842 11X =8 SN
— d==2 : 4,920,000& 4,920,000
Al 820,349,000
2140
eSS 120 120 -
@® M2H BISES23H 0IAIZ201EX2 JEISSEM 14 =8 =X
— JIEtSsEM © 120,000 120,000
Al 120,000
=y 27,885,240 25,764,615 2,120,625




2. N&

\;

= O

A

(20224 03& 0O1LSE 20234 028 28 NtXI)

it
ra
o

20228 H A

202238 HH

- — 23t FO1FE | 11X 201AE gl
o = Ol & 24 (A) 01l & 24(B)
fﬂg? 1,334,830 1,678,107 N243,277
1,009,290 1,203,770 A 194,480
4111 B B B
ME=E=10]
A -
4112 B B B
wnAHAHS
A -
gszAu 3,150 116,150 A 113,000
© =&z
— ZOZ2(AHAH) =Lz 113,000,000
© stE2dMAIS
— 0I2 (12t5=+35,000% *3Al2t153=)*28! D] 3,150,000
m WRX HSSS2H ZAE2e] nHAAXS =4 %A
— =nZ2=Z : -113,000,000& A113,000,000
A 3,150,000
4114
TRy 451,140 478,140 A27,000
wE Mz HelRE3: 597,000,000 597,000,000
EAImE= niFs]
Blu=s ZA 90,000&~5H 122 5,400,000
SIE2YMAE
Bln=s 2ZA 90,0003 «1H«122 1,080,000
EAImE= niFs]
BHWSR A 20,0003 10122 2,400,000




20223 HIH T | 20228 HHE
2% ZIFE | 1% =013
=
e = Ofl AFOH (A) 0l A4 (B)
(®» StE2SHHIAIY
— TN 2ZPAF 20,000 *x1Hx128 240,000
o AUbtN=INA
— TN 2ZAF 40,000 x10Y 128 4,800,000
o SH2MHMAIL
— TN 2ZPAF 40,000 *x1Hx128 480,000
o SI2HAHASLNSAIS
—t=20 ZAI DEEE 5,000 %120 & +9H 540,000
—t=201 ZAI AHHEE 3,000 120 & +9H 324,000
® W AISAHZ HolE22: 120,000,000 120,000, 000
@& ZHUSHE HSE23H 222 23t 2 AIZFZAF ¢
— MMMEE : 900,000&*x12)H& 10,800, OOO|
@ ZHUSHE HESE23H 22Y 23 23t M2 MDD T2 08 29 A2tz
— DEEE : 900,000&x11H& 9,900,000
@& ES2X HESE33H HERGY S22 nIAI 2 oH
— WHAASEEZ  -268,572,000& 268,572,000
@ E2X HSE23H HERE=22 WIEE-HE 2+ oH
— WHAERMLEEZ 0 6,252,000 6,252,000
m E2X HESZ23H HERHYZ222| WIASEHZ 2X oH
— WHAASELZ 1 -27,000,000& A 27,000,000
451,140,000
127,150 127,150
® ZAIE 113,000, 000
® SHESSHHAISY
— 0|2 (111=2+35,000& x3A| 2+*153=) 28t D] 3,150,000
@ WN2H HES=23H 2As2el A2z
— 2AF &stE 22 ¢ 11,000,000 11,000,000
127,150,000
4116
=02 417,850 472,330
(SlP ] h= N =g es)
2ZEARH] 35,0002 * 12 *8A| 2Fx4 L %25 x2SH )| 4,480,000
St L NFEAIS
ZAFE 38,0003 *4A| 2Fx52L «10= %3l BH+4 3 & 91,200,000
—E&4 LAz 50 000& *40A| 2F*2 0 BFx4F E 16,000,000




20225 H1E | 202231 H Q= o
- — 2% FOHEE | 1R 2012 H °(A_=’;
o = Ofl AHH (A) Ofl AFOH(B)
WFLABE 35 000 *6A| 2hx 1522 £f %28 12,600,000
WFLABE 35 000 *4 Al 2bx 15T x4 2 Ef %28 16,800,000
AL RNE 35,0003 *2A1 2bx 15T 22 £f %28 )| + AL X] 9,000,000
st tE 50,000 *2A| 2bx 153 %22 Zf %28 D 6,000,000
QIAIAANAE 35,000 *3Al 2F*15F=x32 K25t | 9,450,000
ANASE 35,000 *6A| 2Hx15F 12 Xpx28H )| 6,300,000
S WA 35,000& *2A| 2tx 15592 X x258H )| 18,900,000
») BLS TS 2 AL
— 9|20l 200,000& 2 *x203+ L B2l 150,000 x2H +23] 8,600,000
@ ZHUSHEH HSE23H 22Y 23 H¥2 0 T2 2° 4292
— 35,000& *4 Al 2tx52 x10F=* 13 BH+3F H 273,000, OOO|
m] 22X w=FHE HIS%EQIJ#I N-c-2 22Y 23 H&= ML Z2 ) 29 St
— S=20Hx=2 W= -50,000,000& »A50,000, OOO|
w] OIAINER HIS%%‘@}I [1-C-1 Eoggdx &y s T2 Y 2H ¢
— ZAMH] © -4,480,000& A4,480,000
Al 417,850,000
10,000 10,000 -
@ W2 HSE3SH LA=22e DNIAEE2S 1K =3 =N
— 2ZAEIAZ : 10,000,000& 10,000,000
Al 10,000,000
Al -
325,540 374,337 AN48,797
33,600 33,600 -
22320 2,800,000 1200 33,600,000
Al 33,600,000
3,400 3,400 -
AM2AANHZ 1,700,000 *23] 3,400,000
Al 3,400,000




20225 H1E | 202231 H Q= o
2% FOHEE | 1R 2012 H °(A_=’;
o = Ofl AHH (A) Ofl AFOH(B)
4123
X9I2bE A 19,000 19,000 -
® 22 H==%19,000,000 19,000,000
Al 19,000,000
ggggﬁgg 181,437 200,242 A 18,805
® =2 500,000&*x12)H& 6,000,000
® &'% APSEAZ BHolE2e2: 270,000,000 270,000,000
® ==X 1,000 1,000
® AUES 2 450,000& 1200 & 5,400,000
® W==X 1,000 1,000
® MNI_AATHEESE 60,000 %1204 720,000
® ==X 1,000 1,000
© MNFDEEE 200,000 x12)H 2,400,000
® M3 AIStHAZ E &Y BolRE =2 28,000,000 28,000,000
® W==X 1,000 1,000
® MNI201AZ 2,400,000 2,400,000
@& S22 HEE33H HERLI S| MNAHAZIESZ 11 =H 2
— AAAAZ : -166,857,000& A\ 166,857,000
@ 2 HEE2Z23H HEEHdZ 2L MNIAG R LB IZ (X} =H SN
— MNSHAIEMNSFGSEREZ 0 52,161,000 52,161,000
& E24 2odHH Mgy eeZae AP 2 1 =8 =
— NIANESEBY AGF=FE2 : 14,000 14,000
m SERH HSE23H HIARE222 JAJASREE= 2X =4 2N
— NIAAZREEZ  -18,805,000& A 18,805,000
Al 181,437,000
i:j'ifl)&“&latll 81,202 110,494 N29,292
® W==X 1,000 1,000
® AAIROIAHH] 4,300,000& 1201 & 51,600,000
® stWJlyg AAIRQIZAH| @ 155,693,000 155,693,000
@ Sl AAIRAAY 1XF =E 2 100,000,000 100,000,000
@ BHASEAL D|SALE| H BHASHAI2H 22| LAIZQIAH] 1XF =2 S
— AR QIAHH] 3,200,000 3,200,000
m SWI|E LAIMOIAHH| 2K =H 2FH: -29,292,0000& N 29,292,000
81,202,000




A= 202231 H = | 20223/ e
- — — 2% ZIFE | 1% =013 °(A_=’;
e y = Ofl AFOH (A) 0l A4 (B)
4126 ~ }
(=]
Al -
ggﬂ&lg 6,901 7,601 A700
® Y==K 1,000 1,000
o XIAEXZ 4,600,000 4,600,000
@ sl AIAEXZ 9,000,000 9,000,000
@ Il AMNAEXZ X} =H 2% -6,000,000& A 6,000,000
m S| MNRJERZ 2XF = 2 700,000 700,000
Al 6,901,000
4200
Do S oy 2,128,656 2,064,793 63,863
4210
yAN
NEERT 695,589 725,238 29,649
4211
=232 104,306 128,000 N23,694
® AlE&R X2
— A&EEZ=H| 1,500,000 12 & 18,000,000
— 2stHEH MIIAHIS X228l 3,000,000 * 14! 3,000,000
— 2= SXE2=4l 2,000,000 2,000,000
® AlZorE 22|
—S2JIAE E2=4] 10,000,000& 10,000,000
—ABAIA 24=H] 5,000,000& 5,000,000
@ AlAs=2 22l L 24 90,000,000 x 14! 90,000,000
m AEZClH S3HEESIH SSHE A2 AIY AFS22lH] 23 =8 2
— AMAEEZ£H| : -13,694,000& A 13,694,000
— ABAIAE E£=H| : -5,000,000& A5,000,000
— ZHHIEH MI|IEHIRAE44Hl © -3,000,000& A3,000,000
— 2= SXNE£H] - -2,000,000& A2,000,000
Al 104,306,000
4212
Xy 22| 17,567 25,120 A7 ,553
® AlE&R X222
— SaAHSI| M2B1940RT*13,000& 12,220,000
— 2D, W) 22| 100,000& * 1200 E 1,200,000




1=

Jo

202238 HAH
2xt F13 3
Ol &r2 (A)

202238 H A
1X =133
ol &r(B)

°©®

\\E\

(m]

JIAEHIF =2l 200,000& * 1
22l 0lof2==cl 1,000,000& *5)H =

GlatE A 2E e el

o T o

Olatsl HZ2 O AtEE 4,300,000

2,400,000
5,000,000

4,300,000

ANE2teld SHESIH 2otdlEAlE 2telAle Zbl2eldl 2xt =& 2

SHAWED| MBIl : -8,743,0008
2D WUBt)| 22| @ -583,000&
JIHFHIF 22l 1 -1,227,000€

SASEA JISAEIN HAB AR

2 2 & FHl=2l S

B

el Zdleldl 2x =

A8,743,000

A583,000

A1,227,000

3,000,000

17,567,000

4215

ANEESHI

541,051

546,688

OJOJO]

]

O]

| W @0@@©@©® | |

O B HO M0 = 2 JE H

A& FI2el

ALY AL EA WA S 650,0008 1290
S| |ALS+=E9H| 500,000& 128
ZHIE%4,000,000& x4 =120 2
Ol2t=<3,000,000& x 181204 &
Sojerd2te| i@ 350,000 12002
Aot Zte| i E 450,000 « 12002

&4 3,500 #420=+23]
t Jl*/\mlﬁl A SHALS
Bl : 3,000,000& 18«44 &

ZelX ESstdlE 2 H 23t AZ 22 At

0

r

2 ol J9 LU
2=

u]
N

A 1 -252,000&

[l

OEOEMOQIUILOJJEOQ

S

HANE=EHH -1,

ot 29 22,834,000& 1202
S ZHIAIAE 29 195,000 12942

=23 A 100ton*5,000& *2

SIS EI | 2 et & A =2 3,000KVA*1,000&

ME T2 E I & o™ &
tdaclsy Hels @ -5,

274,008,000

2,340,000

1,000,000
3,000,000

7,800,000
6,000,000

192,000,000
36,000,000

4,200,000
5,400,000
2,940,000

12,000,000

A252,000
1,325,000
A5,197,000
A 1,513,000




o= 20225 HOIE | 20223 A = A ot ol
- — — 2% ZIFE | 1% =013 °(A_=’;
e f = Ofl AFOH (A) 0l A4 (B)
Al 541,051,000
?:,21;6 = 3,825 4,230 AN405
® E2StHH 2 4,000,000& 4,000,000
® AEoHM 2|
— SZIAIDBIAEAE S 200,000 200,000
— T AIDPAZHHAE S 1§|*30 000 30,000
m SERH SIHESIH 2 2He B2 2xF =& 2N
— E2SHIEH SIMEEE - -342,000& A342,000
m AEZEIH 2FH4IES H 2SHEEAIEZ2EIAIY BE2 23 =8 2o
— SZIIAFDH A2 Eé* © =33,000& A 33,000
— T AIJDIAZAPIAEE © -30,000& 30,000
Al 3,825,000
ézlzo, = 840 1,200 A360
@ E|A0|i}
— HEYE '56HI E2 & Hd=&s2 1,200,000& 1,200,000
m AE22lH 23HHE S H 2StEEAIE 22202 elALRE 2K =4 2
— HEYE 'eHI E2 ¢ HEd=Es2  -360,000& 360,000
Al 840,000
gzlgigf/\l“l*altll 28,000 20,000 8,000
® Z2stAIE =XE X228 5,000,000 23] 10,000,000
® ALHRD|EFAIAE 2t2]H] 10,000,000 « 1Al 10,000,000
m =2 SSHMIEHSIH LE 22| JIEtAIE 22| 2k =8 =
— A= L8 22l EAd] 2,000,000 2,000,000
— cctv& Xl ZAF : 4,000,000 4,000,000
(m] BHAISEAL DS ALSIH BHASIAIEG 22l JIEtAIE 22| 2XF =8 SN
— AR AlE22] @ 2,000,000 2,000,000
Al 28,000,000
22
i'lﬂ?ﬂalhl 1,055,447 857,265 198,182
= -
4221
OHl mEH| 800 300 N
®© YEtnsA
— wEH| 60,0003 *53] 300,000




= 20225 H1E | 202231 H Q= o
2% FOHEE | 1R 2012 H °(A D;
= — _
o y = Ofl AHH (A) Ofl AFOH(B)
Al 300,000
4222 j j j
=Nl
Al -
ZEEDSEHI 201,172 208,250 NT,078
o E3HIH SHEA S AZ2FEH| 6,000,000 6,000,000
o AN&ESX e
— A8F 9 2F 2 43]%500,000& 2,000,000
— 2StdIY &D], A8 ADZEH| 250,000& 124 3,000,000
® ZEHH=EE 215,000 x504 750,000
® HAEE2| 300,000%53] 1,500,000
® M3, =& 2| 400,000 %102 4,000,000
® Z2Z2I0l¥E A23H|: 1,000,000 1,000,000
® JISDNHENE 25 L XHEE 50008 *3,0002 121 180,000, 000
® SWily AR2EHl : 10,000,000 10,000,000
m StWI|Y A23H 2X =& 2 -6,000,000& 6,000,000
m A2l 23HE S H 2SI AIE2elAIY AR EH| 2XF =4 2
— A0F 9 2F 2 -78,000& A78,000
m E2H HES23H EAKNY AREH| 2X =4 2
— WAMEA ADE  -1,000,000& 1,000,000
Al 201,172,000
4224
ol EmY| 1,200 1,200 -
® JIEXNEE Cl4HH]l 1,000,000 1,000, 000
® OaEg2IE e oM ST
— OlAS HA B E & 20,0003 10 200,000
Al 1,200,000
ﬁi?m 156,232 153,600 2,632
@ Al&d2els2023
— Wugr 222 5,800,000 12902 69,600,000
® SAIJIAR2Z 7,000,000& 1200 84,000,000
m A2 2SHAEHSH S A E 22202 HEH| 2K =8 S
— WHugr o2 1 17,632,000 17,632,000
(m] BHAISHAL DS ALS|H BHASIAIR G 2] LHBtd| 2XF =8 2o




20223 HIH T | 20228 HHE
2% FOHEE | 1R 2012 H
o = Ofl AHH (A) Ofl AFOH(B)
LHBHH| ¢ -15,000,000& 15,000,000
Al 156,232,000
§§?¢EE 318,170 282,000
® Al&Z2202
— ZoHHIH M2 17,250,000 1200 & 207,000,000
® &I|Z1,500,000& 120 & 18,000,000
® AI*E*EPEI%%J
— AT 2Z 2,250,000% 1201 & 27,000,000
® =52 2,000,000& %1270 & 24,000,000
@ BHAMSEAL DI AS|H BHASIAIRI2tE] MII2 11X =83 S
— &J|E 6,000,000& 6,000,000
m AEZClH 23HE S H SSHEEHAIE 2222 &)lg 25 =8 S
— Z2stdlE dMI12=2 : 30,000,000 30,000,000
m] BHASEAL DI A BHASHAIR 2] M2 2XF =8 S
— NMI|E : 4,500,000& 4,500,000
m AlZ22|d 2SI EHSH SSHAEHAE 2222 =528 2K =8 S
— AEE 22 1,670,000 1,670,000
Al 318,170,000
4227
= AlH| 23,555 29,600
® Al&222202
— 23HHIE M3, QY 2= 1,240,000 1,240,000
(® OIE{4l 2,000,000& *x12J0 & 24,000,000
® HM3RZ2 200,000& 1200 & 2,400,000
® &8 80,0002 «1200E 960,000
@ SF=aHHSLNSAIS
—EMSE 2 20,0008 %508] 1,000,000
[ PMASIAL JISMEH MASAIZ ARl S 2R FY A
— St : -4,900,000 4,900,000
W OASBRY 2HESN SHMEALBAZEE SAH 27 £ S
— 23HHIE M3, CIHY 2= ¢ -145,000& A 145,000
m Z2HUFHE HSE23H II-C-2 22E St M4 M 228 2H9 =S¢
— S22 =  -1,000,000& 1,000,000
Al 23,555,000




= 20225 H1E | 202231 H Q= o
— 2% FOHEE | 1R 2012 H °(A_=’;
o y = Ofl AHH (A) Ofl AFOH(B)
4228 351,763 178,460 173,303

MASUs

MONOM

ONONONOMEN

[ @ m®

& © | @ | @ | @ |

ZotdlE NSER

21 =S THAHAI 187,000,000 87,000,000
EXITHAEAl: 44,000,000 44,000,000
SR SAHAI117,000,000& 17,000,000
NERLFE= 5:6,250,000& 6,250,000
A=A HE 42 714,000,000 16,000,000
& H A|

EZME NG B A== 50,0002 50,000
wnY H=sSs2Z A 1HA +~ 50,000 50,000
S FM===EH A 112 +30,000& 30,000
=21 I Atdl: 600,000 *13] 600,000
=& Z AtHl 100,000& x22] 200,000
e t2te| X 2l sl 2ldl 200,000 *13] 200,000
2t HE 120,000 #4328 480,000
SIE 2 M ALY

Stgt=s EOtelE A E 400,0008 + 712+=+100,000& 1,100,000
stH2dME ezl Hsldl 500,000 12l 500,000
2t =E0A

228l 500,000 *1H 500,000
SR 2HEZIH dY2el MASYts 21 =8 A

Eotdle SERSAA 11,010,000 11,010,000
MEX ZHHERH e MASLs 1 =8 59

b= HE ¢ 1,000,000 1,000,000
MEX ZHAERH e MASLs 2X =8 2

A== ¢ -4,700,000& 24,700,000
ANd2eld 23HHESIH SstdEAIZ 2SS MAISsS 2xF =8 A
STAE NG S Atz===8 © -2,000& 22,000
ny H=s+2Z A 0 -1,000& 21,000
S0 ZI1Z Al @ -56,000 56,000
BASIAL JI=s AL A stAtz g 2] MASLS 2Xt =8 S

=ZZAHl : 200,000& 200,000
ERX HISES2H FSUHUHL LA HMASHS 23 =2 SH

HAtMl & SEFSAA - 167,150,000 167,150,000
MEX HISEs2H e MASs 2xt =8 2

AFUUE 0 -298,000 A298,000
StuJlg MAMS2t= 10,500,000 10,500,000
Sty MMSU2 1X =8 24 -7,000,000 27,000,000




I= 202280 01E | 20223008 | . oo,
- 22X FOHEH 11X F0133 (A-B)
& g = Ofl &4 94 (A) Oll 424 (B)
ot 351,763,000
e 3,055 3,855 800
© Z&IIZ cms, OlM===80,000&*120H& 960,000
© ZeloIsSME=E++2 20,000 20,000
® LBDSY
— XNHSAHE 150,000 =22 & 300,000
— HBIR™HAIE S ItE++2 =22 350,000& +0.02+502 £ 350,000
© s um A
— HIRHAE S ItExg L7 225,000% +0.02%50H 225,000
© guwilyg X=+=2 : 3,500,000& 3,500,000
@ s0JlY K==z 14 2 29 @ -1,500,000& 21,500,000
m sStWJH XNas=2 2x =& Z2H © -800,000& A800,000
A 3,055,000
2
e 377,620 482290  A104,670
4231
o) s | 2,800 2,800 -
© &8Iz FA<WEA> CIMEIE 1,000,000 1,000,000
© LBDSDI
— ZU22A0 100,0002 8 800,000
o Sl =cl=4dl 1,000,000 1,000,000
0 2,800,000
4232
ne=ay 1,300 1,300 -
® YU DSDE
— &ItHl & =&l 600,000& 132 1,200,000
@© Wiy wssadl ¢ 100,000 100,000
! 1,300,000
4233
o6 ot Y| 73,023 53,228 19,800
© S 2AF AHE E<9HI: 330,000 1200 & 3,960,000
© HS AL HEXZ E9 l:H 15,263,000& 15,263,000
© HEXE 2)HA+12J4E+1,100,000& 26,400,000
© QSN




o= 20223 HAH T | 20223 H AT = A oro
- 2% FOHEE | 1R 2012 H °(A_=’;
o & = Ofl AHH (A) Ofl AFOH(B)
— ESHO0|X22lH] X 24 300,000 120 + AR} 7,600,000
m =2 HE=223H t='HJ(|_ ot AY| 2 =4 2N
— HSAIEHEXN=E9H| - -2,200,000& A2,200,000
m] OIAFZZIA HISES3H V-C-1 SAIHE JHE 2 & - THE X3 =0 etz
— SE8X& : 12,000,000 12,000,000
m S2H HISS23H a2 e dEAH| 2XF =E SN
— W=EsJ|SMW2t Z2EEI 2946l 10,000,000 10,000,000
Al 73,023,000
4234 - - -
J| 2 EHRERH|
2 -
4236
JIEFY =R - - h
Al -
ggtll 12,560 14,560 A2,000
® JI2X JIE€8 € E2H| 5,000,000 5,000,000
® St=2HAL NFAIS
—=E8BXSHZE 2 D|EF 2,000,000 x23] 4,000,000
(@ dBtn=A
— MEX] 1,000,000 *23] 2,000,000
— 22421 500,000 *23] 1,000, 000
— & 4=9F 50,000 *2001*23] 2,000,000
— OHIFEHI Al 35,000& x2Z=%832 560,000
m Z2HUSHE HSE23H III-C-2 22 23t M2 M T2 29 &t
— =20 HLEY = - -2,000,000& A2,000,000
Al 12,560,000
g?q?m 400 400 -
@ oM g2H2e] A F 2]
— SOFHAX 100,000& *3H *53| 1,500, 000
— SOFHAX 200,000& *1H*53] 1,000, 000
®© YEtnsA
— 3| 2/H| 200,000& *23| 400,000
@& JIEX HSEES3H 2 30 A= HAH 2 3ot A2,500,000




A= 202231 H = | 20223/ e
- 2% ZIFE | 1% =013 °(A_=’;
e & = Ofl AFOH (A) 0l A4 (B)
Al 400,000
;DEBA?HI 3,120 3,120 -
® J|I2X < HAHl 250,000 250,000
© et IA
— 22X S8 HZE 50,000 *2H+E 2 =100, 0003 *2¢ 620,000
— DA 3IASES S92 H 2 50,0002 +A1H] 10,0003 *30H+ 650,000
— =2 A S0 HE 50,0002 *2J0+AMH] 10,0003 «50H+E 1,600,000
Al 3,120,000
gzlg—ir%ﬂtll 284,417 406,887 N122,470
® &2 2N AP 0lA 25,000,000 25,000,000
®© FEM X 2e Il 96| 600,000%x120H 72,000,000
o WA ZMI
— OIsSEAY AlH| 6,000& *40H x5A!x25| x5 )| 4,800,000
— OISEAY ZAK 2| 5,000& *x40Y 23] %284 )| 800,000
— OlsSEAEAAX2AH] 10,0002 x40 23] %28t )| 1,600,000
— S9H| 500,000 500,000
® S2HASLDNSAIS
—=9,HSH| 200,000& 23] 400,000
—2= 2t 2SS 2H| 300,000 x4 3] 1,200,000
—nE=MstEE 2ISH ZHl 10,0002 »8E 10 800,000
— WM 2 W3 F22Hl 20,000& *100¥ 2,000,000
—QAE23HE L JIEFHAHIZ 40,000 x50 x4 3| 8,000,000
—st= 2 M 0ILH & H]l 500,000 13! 500,000
—st=0 N2 M O0ILE FIHH] 300,000 *2H *23] 1,200,000
- 82 243 S 20,0003 *40H 47 & 3,200,000
—2AF EEDIZ2ZE B EEXE 20,0003 *40H *x23] 1,600,000
— ARSI & 224A 22F 1,000,000& *23] 2,000,000
—ANE2E3 & X2 =5 S 500,000& 23] 1,000,000
— W P2l 200,000 x4 3 & 800,000
© BHAAHEENA
— A AN SEE U225 x650, 000 146,250,000
© YEtnsA
— Jfecta|2elgl 11,000& x 1200 & 132,000
— AXASE20] 10,0003 *4A| 25 x125=x25¢ J| 4,800,000
— A0F 2 2X2HH| 100,000 *8H & 800,000




1= 2022801 | 202281101 | .o
oxt AR | 1% 2opmm | SO
B 8 S 0| AFOH (A) 0l AFOH (B) Gt
® BLS TS At
— HAEE XY 50,000 *12 %203 1,000,000
— Chab & AH| 10,0002 10 *203] 2,000,000
— JIEt2ZH| 50,000& *203] 1,000,000
— =SS Y3H| 30,0008 1900l 5,700,000
— WIHHl 23,000 %190¢! 4,370,000
o SHES2S ALY
— SHE2GH 229H| 150,000 x28H )| 300,000
o StJlY JIEF2YH| : 88,085,000 88,085,000
@ ES2X HSE23H I-A-2 o2 &t NE HWEKD & JIEt2dd] 1X
— ZZ2|gi Al 850,000 x83H 70,550,000
@ &Il JIEt2EH] 1X =8 2 ¢ -45 500,000 A45,500,000
m StI|H JIEF2YH| 2x =& 289 -21,640,000& N21,640,000
m 2 HUSHE HSE23H II-C-1 =20 s & s T2 89 J|Es
— BHAANEE A 2HH| -93,130,000& N93, 130,000'
m QIMHINLR HIEE2SH |I1-B-5 2=SH 24 &2 T2 )2 e 2H JIEFRS
— AlH| : -4,800,000& 4,800,000
— ZAX 2Ll -800,000 »A800,000
— 244d| : -1,600,000& A 1,600,000
— 29%H4| : -500,000& 500,000
Al 284,417,000
4300
of 3t 24 1| 15,653,204 15,649,977 3,227
4310
oAy 1,000 42.000 A41,000
4311
oy - 40,000 A40,000
® Autze| o3|
— HSUFETZIZ2NME EHH AR —_rl|:1| : 20,000,000 20,000,000
— 2E 2DOAY 0 WAF ARH| ¢ 20,000,000 20,000,000
m JI&EX HSE=23H V-C-1 °*/\H1|E s & 8- A K& &0 A3l 2%t
— s ITZZNE FH WAEIA A32H| © -20,000,000& 20,000,000
— 245 2 OAMY B2 n&EF AZ2Hl - -20,000,000& 20,000,000
Al -
4312
Az 1,000 2,000 A 1,000




w LK

oy

n= 20225} E | 20223|H S
- 2% FOHEE | 1R 2012 H
o & = Ofl AHH (A) Ofl AFOH(B)
2 SHEEXF 2l & H| 100,000 *4H %53 2,000,000
ZHRSHEH HEE2SH II-C-2 222Y 23 222 1D Z20y 89 A-
AL = 0 -1,000,000& 1,000,000
Al 1,000,000
gi‘)%ﬂl 15,520,154 15,479,677
ﬁgg 15,194,255 15,0583, 195
® SXWEAHESZ22| 60,000,000 60,000,000
m EXI=E ENIZSSH V-E-4 st S| & HSIIHH 2kt
— 2X™I|=z &Hst=2 ¢ 20,000,000& 20,000,000
(®© AsHIHErESIZE 2] 30,000,000 30,000,000
m XIS YIS H V-E-4 st S| &4 W2 i =8 SN
— ASCEYIY D2 &st=2 0 30,000,000 000
(OR='9SW) JHel sk XIAIIE2 3,000,000 ,000
& ZEI|I2E LHEI2SH SMSIIEA HSHIol H&2 1X
— JHQID|E HstZ2 7,000,000 ,000
®© ZIIAS2 18 2,300,000 *2,500H *23] ,000
(® ZII&ESZ 224 0 275,000 *3,000H 23] ,000
(® ZII&sta 288 (XIOITH) @ 3,125,000 x120H «23| ,000
® 2IIES2 28 (YUsI2L=EUE) ¢ 1,666 %198,000 ,000
@ St HISE23H st =X 4o 2IHEE22 11X =
— gtz 2= e 49%+198,000& 000
® 2IIES2(s2AACH2l) @ 2,000,000 502 +23] 000
®© 2IIES2(ZEESH) 1,500,000 x5H %23 000
®© Z2IIES2(2II22ESH) 11, 150~ *50H #5652 A 2Hx 1104 000
© ZIIESZ(TSIN=THESZ) ¢ 3,343,000 «9H *23] . 174,000
m SIMY HSSE23H V-E4 s 22X sS4 JIEI=2I1ES
— S|@ALCHZ] 3,278,000& *x10H ,780,000
— H2I=CMEE = : 3,664,000 *10H*x23] ,280,000
— AMEEY, EFESO : -15,000,000& ,000, 000
® KRAZSIZ2 . SSHFAAMESE © 1,000,000& x5H*x23] ,000,000
o EEZ&st3a : 3,878,050& x10H *23] ,561,000
(® STHOIEFF0IESIZ ¢ 2,000,000 *8H *23] ,000,000
Al 15, 194,255,000
4322




= 20225 H1E | 202231 H Q= o
- — 2% FOHEE | 1R 2012 H °(A_=’;
o y = Ofl AHH (A) Ofl AFOH(B)
@ sl &#s= 0 1,000& 1,000
Al 1,000
i?ii,ﬁul 48,448 118,270 NB9,822
® =HI|= 98,000 *100H 9,800,000
® =HAIG © 98,000&*120H 11,760,000
(® AZIAZIHCIOIBI D= 247,000 %100 24,700,000
© AIAIHCIOIEIASE 247,000 *90H 22,230,000
® HAYAZXXS 153,000&«60H 9,180,000
® AJ] 143,000 *100H 14,300,000
® ALHEE 153,000&%120Y¥ 18,360,000
®© ATXXE MZ2AD 1 117,000 *10H 1,170,000
®© ATXXE MZ2AD11 117,000 *10H 1,170,000
® SI|Y AgASH| 9,600,000 9,600,000
@ )| AFASH 1K =F 24 -4,000,000& A4,000,000
m Sty ASASH 2X =8 2% -5,600,000& A5,600,000
m DRH HEEZ23H |-B-1 94 WIS Y 29 ASEAMASAETIRYM 2
— AZXYNER DS Y -64,222,000& AB64,222,000
Al 48,448,000
‘Sffﬂ 2y 26,000 26,000 -
o HAEUNFAIFAS
— 10 *100A] 2t*11, 150 11,150,000
© MIHsI2zYESESIES 22 =04 8,000,000 8,000,000
© LBt sA
— 2= 23 100,000 *40H x25H | 8,000,000
® StE2HMALS
— =2 Mg S SHH|Z2H 28 x225, 0003 450,000
@ =22 HEE ™ HE=223H E-1I-0-1 oie =Y NFHMH 29 stMXI]
— MRS SIS (2FAH=0rA M -1,600,000 1,600,000
Al 26,000,000
g?zgswsqm 251,450 282,211 A 30,761
® S22 2N AP0l A 3,000,000 3,000,000
o BHASHAL OlHf & MENS
— 2V AFB] 483%200,000& x23] 1,600,000




1=

Jo

202238 HAH
2xt F13 3
Ol &r2 (A)

202238 H A
1X =133
ol &r(B)

2hAIH] 584&H %2, 0002 +22]

&S 50&+5,000& *23]

2| X+l 150,000 *20H

AEHE 2 30,0002 *30M

S Xk IR 250,000 = 10CH

HE 1 250,000 *40CH

Wef A0 25,0002 *30H

oefE 100,000 +22]

EHAB 12,000& +500H

OHE2lIA 250,000+ 1004

erat E[A Al 158+10,000& «82
P el 2PARHI1E%200,000 *42]
SCtarg AlHI158%10,000& #4353

A2

Hl 15,000 x50 1241 %28} J|

Z-Hl 250,000 * 10A x4 %28 )|

GHI<KWSHI, A2, 312 S> 1,500,000& #2587

— ZAA 7 10,0008 x150E 23] x25¢J|

— Z4Hl 10,0002 *40F +25! |

— &HEH[10,000& «40H »28t D]

— XFEH| 10,000& x40E 254 D]

Sl 2,340,000 25t J|

St 0L WK ALY

-2, S AL A & =5 FYHI 20,0002 #1008 45
—Z22TOPIKSAIZ 50, 00094*100‘34*22|

—std b |Ot ?DH 200,000& *22]

FUAME S A=UFSM HAF 20,0003« 100 *
—gZ02 % sd II-E’ 20,000& x100& *22]
—2=QlRstd T 30,0003 #20%

04 07
>|[[

[ @@@@@@@@@@@@ I

b 02 19 Of O

¥ ox
r 2
ﬂIE

Ol

—AlHl 608 +5,500F 34«20

— S HHl 60Z+10,000&

@ ZHIISE LIS &M =X &4 J|EtsMA
=88 A& : 13,000,000&

HYMZXNEHM HSES3A Fgazus 2208 2
ZAtE 218 +102]%50,000&

wiBl 4058 +18,000&

Fgdz T2 Me 114,055,000

I @ |

(m]
oy
E-
2z
Qy

1
HASIAL JI=SALSIH SHAISTALOIBH S St W= DB ST AH| 2% FH 2 M

2,336,000
500,000
3,000,000
900,000
2,500,000
10,000,000
750,000
200,000
6,000,000
2,500,000
1,200,000
800,000
600,000

18,000,000
20,000,000
3,000,000
6,000,000
800,000
800,000
800,000
4,680,000

8,000,000
10,000,000
400,000
4,000,000
4,000,000
600,000

19,800,000

600,000

1 =2 3N
13,000,000

HEH S JIErEM Y
10,500,000
7,290,000
4,

14,055,000

12




A= 20223 HHE | 20228 HAHE e
2XF FIE 38 11X FIIE 3 = 2
= B S Ol A+ (A) 0l A2 (B) YAt
— 294 £ : 3,476,000 3,476,000
W 2HDSHE HSES25H I1-0-1 A2 S 84 1] T2 29 J|EE
— E9AT}2E} -19,000,0008 19,000,000
W OIHINLR HSE2H |1-0-1 HOSSA A NS T2 Ny 29
— AlH| @ 15,0009 %182 % 124! 3,240,000
— =AH| @ -4,000,000% 4,000,000
— AKX Rl : -6,000,0002 8,000,000
— =AY 1 -450,000% A450,000
— AFEHH| @ -450,000% A450,000
— XEH : -625,000 AB25,000
pil 251,450,000
4330
o) A Z+3H] 132,050 128,300 3,750
gikg 47,800 25,000 22,800
® AL 25,000,0002 25,000,000
W USRI HISE2EH |-A2 D48M A% K 2Y YALY 2% =2 =
— YAIRE YALE : 500,0002 453 22,500,000
— YAIRE YAILS : 300,000 %13 300,000
A 47,800,000
giz%m 84,250 103,300 A 19,050
® 2Al, HA 2EAME S: 40,000,0002 40,000,000
® 22tol &2 3,500,0008 * 23 7,000,000
® SIS AlH] Y CHIHHI: 1,000,000 *33] 3,000,000
® USIAEHDAYM S2X AlHI: 10,0002 *1004!*33] 3,000,000
® BE L AJDAF BIIY AAIR: 250,000 x20 33 15,000,000
® UDEAA2: 50002 +3,360% 16,800,000
® OiF U AJ DA 29 ADE 19 2 000,000 <33 6,000,000
® BIFE U AJ| DA 29 BEX QIZHH|: 4,000,000 «33] 12,000,000
® X2 241H:500,0002 500,000
W USRI HISE2EH |-A2 24sM M2 N 2 AYAIS2H 2% =
— QAIE2H 2 : -763,000& 763,000
W USRI HISE2EH |-A2 24sM M2 M 2 A2l 2% =
— YAIEE AN : 5,063,000 5,063,000
W USRI HISE2EH |-A2 24sM M2 MM 2% QA2 2X =
— QIAIFE BRI 23,350,000 23,350,000}




1= 20225 01% | 202281 A )
_ oxt =HFR | 12 = .
o f = Ol AHOH (A) 0 AHOH(B)
Al 84,250,000
N elis 79,606 78,606 1,000
o 79,505 78,505 1,000
%”:] ol 79,505 78,505 1,000
® SRS T EIFOlIFéi 6 ,832,000& 68,832,000
¢ X S=33 X =of
— Tz oRey 9,673,000
(m] X 22X HEEZ23 El XNZS0lAt 2K =8 =
_ o1 QINEA : = 1,000,000
Al 79,505,000
4220
JlE IS HIE 101 101 -
ael 101 101 -
U=sEX:1,000& 1,000
stpllg &=4a 100,000
Al 101,000
4500
HE2 _ _ _
2510 3 B )
ME2
4515 _ _ _
swsHHED
I -
4516 _ _ B
AN Pt
7 -
4540




= 202238 AT | 20228/ HH T e
- = = 2X FIFE | X FIHFH °(A_=’;
= 3 = Oil & 94 (A) Ol A+ 24 (B)
4541
MO ED _ _ _
A -
4542 - ~ -
stpIlEE3
2 -
4600
o8 b 64,561 59,674 4,887
4610
64,561 , :
o4 b 59,674 4,887
4611
ol Gl 64,561 59,674 4,887
© JI&H 223 olblbl=el olblbl 10,000,000 10,000,000
© JIEX SSMESESIA oblHI22l oldibl : 19,743,0 19,743,000
© JIEH™ JI=sAFSE3AH olulgi2el olgigl : 10,000,000 10,000,000
® JIEH HISZE23H oldlbl=el olbibl: 41,145,000 41,145,000
© JIEN BMDSASES|H GiHbI=al tlbibl : 17,033 17,033,000
@ JIEH LRII2H olblHl 22l olHibl 1K =2 ZH 1,694,000
@ JIEH LRII2H olblHl 22l ollbibl 1K =2 2o 4,994,000
@ JI=H SSHESIH oibIbI2el odib 1% =E 2o
— OflglBl : -14,000& A 14,000
® JIEH 2SMES N B2l oiblb 2% =F Lo
— 0Ol8lIBl : -9,847,000& A9,847,000
@ JIEH HIS=23H oibibIal oibib 1% =F 2o 36,355,000
® JIEH HIS=2352 GlUlHIZ2l oiblbl 2% =2 S 15,157,000
w WA olglgl 2XF =8 2 -423,000& A423,000
@ stuJlg oliglgl - 1,422,000 1,422,000
A 64,561,000
1200
S XD EFXHALX 6,741,703 4,617,293 2,124,410
=
1220
= TR AK| & 2,852,000 2,915,000 A63,000




[ w | [w] |

232+ 1,930,000,000&
gES= + 800,000,000
MHEX 2=2tE 2/ H JIEHSE XFAL
JIEFE AR ZE ¢ -20,000,000
MHEX HISSs21H JIELSE XA
gUHES=  -43,000,000&

A
&t
|
A

t2tel JIEtSXAARIE 2Kt

stte] JIEtE R AHARIE 2t

20225 QT | 202251 A S
2% FOHEE | 1R 2012 H
=
2 = Ofl AHH (A) 0l AH24(B)
1221 _ -
EXSIISHOL N
A -
1224
St | D E X AHAK - -
=
Al -
1229
IEFE R AR S 2,852,000 2,915,000
® AdHES242 100,000,000 100,000, 000
@ AdHEES24+¢ 85,000,000 85,000,000
@® M2H 234 H JIEFSE XA 2] JIEFSEXAAMXIES (X =8 S
— olgy 1,930,000, 000

800,000,000

=24 2JFA
o oo

20,000,000
H

2JF
=]

1
oY
_lO

A43,000,000

AH 2,852,000,000
1240 ~ ~
JIEFRHAL R S
1241
HA - MEEE2X - -
=
A -
1242
UXNEZ2ZXE - -
AH -

1243
SIS K=

A




= 2022391 | 2022801 = = A 2t08
= — = 2% FIHEE 1X FI3 3 (A-B)
& 3 = 0l AHH (A) 0l AF2H(B)
1243 - B -
JIEFRFAHRI S
A -
1250
ASEEIIS B - -
1252
AZGEAD) 2 - - -
g
A -
1253
AZPEAZ) A - - -
g
A -
1254
ATBERE)|2N - -
g
H -
1255
= ESIISPIE=E - - =
g
AH -
1260
o102y 3,889,703 1,702,293 2,187,410
1262
ool 2 X - h N
A -
]f,ifx R 2,356,889 767,986 1,588,903
® GI20IX =& 146,200,000 146,200,000
o MIWOINBZZ =Y 21,786,0002 21,786,000
@& NHEH HIS223H HUNE2 22| YAASI2HY 1% =5 =N
— IPA2ERE 600,000,000 600,000,000
W HW2X HSE235H MAME222| AHE)|2 M2 2% =28 =




202231 H = | 20223/ e
- — 2% ZIFE | 1% =013 °(A_=’;
e = Ofl AFOH (A) 0l A4 (B)
— 20ra2rE g 0 1,550,000,000& 1,550,000,000
m MMEXH HES23H Jl=2el LYAHFII2HE 2X =4 =
— OIZ20[X : 38,903,000 38,903,000
Al 2,356,889,000
20,000 20,000 -
® &st)|2 20,000,0008, J12+=2Y O|AtEE 20,000,000
Al 20,000,000
Al -
Al -
1,512,814 914,307 598,507
® 020X =& 130,000 130,000
@® Ol=20lAF && 220,300,000 220,300,000
o Hdz8olAMet=2 8¢ 33,218,000 & 33,218,000
® st XIsI132 62,180,0008 ,J182 =2, ol A 62,180,000
@® Ol=20lAF H& 20,200,000& 20,200,000
o dz38OAMet=2 & 2,207,000& 2,207,000
& WLX HISE23 01222 YASHSHIISHY(NKUILISE) 13} £
— WROIITZZIESE : 576,072,000& 576,072,000
m HWEXH HISE23H Jl=a2el LoASESEI I UFAZIES 21 8 Y
— 020l AF : 13,100,000& 13,100,000
— WROIZZIE=E © 583,107,000& 583,107,000
m SN2 E SHI2SH HWSEHEIS LAY LAEXASN)|IZ 21 =4
— YoEE=HI|IZ Uot*ZIMEEI|=2 ¢ 2,300,000 2,300,000
Al 1,512,814,000
121,156 14,471 106,685




A= 202235 el | 2022351 H Qi e
- 2% FIEE | 11 23T “AB)
e & = Ofl AFOH (A) 0l A-24(B)
1310
S5 DA AN 121,156 14,471 106,685
A=
1311
E X 01| 975 - 975
W E2H HSES23H SSMNLLMZ EXHAH 2% =2 =
— ASW OF : 975,0003 975,000
A 975,000
1312
A=0ie - - h
2 -
1313 B B B
2E20HHI
A -
1314
e BT 4,371 4,371
® S Wole JIHIIRHYH H=EX ¢ 1,000 1,000
@ NOISMXIAME HISZ25H AHS DSXA JIHIIRHUL 1% =8 =
— 2XZs JJ|0HHIl : 4,370,0002 4,370,000
2 4,371,000
1315
LU= 0 e ] 13,100 10,100 3,000
® & 21500,0002! *4CH 2,000,000
® =4I| 300,000 *2CH 600,000
® B2 LL DAY
—LE= 2,500,000 *1CH 2,500,000
® %muw ZIIHIZ 0L : 11,000,000 11,000,000
W SN SHUEEN dgBel WIINBLIE 20 £ 5%
— cotvA Xl : 6,000,0002 6,000,000
@ =00/2 FOHIBH 1% =2 2o : -6.000,0008! 26,000,000
m StmIIY EIIHIZ0UH 2% =7 2% : -3,000,000 23,000,000
A 13,100,000
1316
28R - - -




202231 H = | 20223/ e
- — 2% ZIFE | 1% =013 °(A_=’;
e = Ofl AFOH (A) 0l A4 (B)
Al -
1317 - ~ -
SN2
Al -
1318 - ~ -
SHeAR ST A
Al -
SSDW@ 102,710 - 102,710
m AlZ22|d HSE23H V-A-2 & DSANE 25 29 HEIIHA 2xF =4
— WU MSAEZHEHE L AAl HEQID HE 29 F|2 50,000,000
— WU MSAEZEAHE L AAl HEQIDL HE E9H| 5 50,000,000
— MXEESFUX LR 50 B2 @ 2,710,00 2,710,000
Al 102,710,000
1321 ~ ~ ~
SEDAEXAFSH|
Al -
i@ﬁi At 1,250,000 1,250,000 -
TT O T o T
1,250,000 1,250,000 =
2111
CHOIRFQI 2 A& 1,250,000 1,250,000 -
o AMSRESMME XS24 1,250,000,000& 1,250,000, 000
Al 1,250,000,000
467,000 450,000 17,000




1=

Jo

202238 HAH
22X FOHE 3

Ol &r2 (A)

202238 H A
1X =133
ol &F(B)

2220

JIEtDE 2

467,000

450,000

oy
il

467,000

450,000

[NCIRERCIREE S JONO

0K ==

2 -
] -
] -
SSHHE AES2 &2 100,000,000 100,000,000
22208 E 2SS &S 5,000,0008 5,000,000
E9H SN BB YUSS2HS 1N =Y B
AWBZZ &2 : 335,000,008 335,000,000
Z9H HISS230 YHESI2 22 YUREIHS 1% =Z B
HXAY YYSSZHZ ¢ 10,000,008 10,000,000
E9H SN YY) YUSS2HS 2% =Y B
AWBZZ &2 : 20,000,000 20,000,000
Z9H HISS230 YUHESI 22 YUBEI 3 2% =F 2o
DU =XYM YHSS2 &3 : -3,000,000 3,000,000
2 467,000,000
] -




o= 2022301 | 20223101 —
- 2x FIHREE | 1R FOHEE (A )_'
e & = Ol AHH (A) 0l AHOH(B)
OIArS N
91015 2 B ERE] 44,524 1,694 42,830
1100
e 54,524 11,694 42,830
1110
o=x2 52,830 10,000 42,830
® SsX2 10,000,000& 10,000,000
m HEH HSZ2Z223H 0IAMS0IENN2 SSA2 28 =83 =
— SsA=2 : 30,000,000& 30,000,000
m St XJI0EXZ2 2X =8 =X 12,830,000& 12,830,000
Al 52,830,000
1120
IEFS S XA 1,654 1,694 -
© ZX™IZSH SSEHA 1,694,000 1,694,000
Al 1,694,000
%}g?ogﬁm 10,000 10,000 -
=TT O T
2120
B! ) - -
2 -
2130
JIE 10,000 10,000 -
© 2X™IZ3H &+= 10,000,000 10,000,000
Al 10,000,000
2140 - -
IS S 2 7
2 -
= 07,885,240| 25,764,615 2,120,625




